o’ INDIANA '

BRONCO

2021 BRONCO
LICENSE PLATE DOOR
MOUNT

*VERIFY YOU HAVE ALL THE COMPONENTS BEFORE STARTING THE INSTALLATION. REFER TO THE
ENGINEERING DRAWINGS AT THE END OF THIS DOCUMENT FOR A COMPLETE PARTS LIST*

BLP2100 - Rev 1 8/2/22 Page 1



Start by removing the inside panel from your
tailgate.

Also remove the two rubber plugs underneath
your tailgate.

Rubber Plugs

-

Install the rubber edge trim to the top of
the License Plate Mount as shown.

***]t is easier to install your License Plate and LED Light Bolts now before installing the Li-
cense Plate Bracket on your tailgate.***

Use the existing painted screw shown here
to mount the License Plate Mount. This

screw only threads into plastic, so be care-
ful not to strip the threads when installing.

Painted Screw

BLP2100 - Rev 1 8/2/22 Page 2



Insert the flag nut into the hole inside your
tailgate show here.

Hold this flag nut in place while you install
the 5/16 Hex Bolt from underneat the tail-
gate.

Position the License Plate Mount and then
snug up the screws to hold the License
Plate Mount in position while you finish the
installation.

Mark the position inside the slot for drilling
the next hole.

Mark this hole

We then removed the License Plate Mount
to drill this hole. You can drill this hole with
the License Plate Mount installed, just be
careful not to damage the paint or powder
coat.

Use a @1/4" x 8" long drill bit. Drill straight
up thru the plastic interior of the tailgate.

BLP2100 - Rev 1 8/2/22 Page 3



Insert the long @1/4" Hex Bolt up thru the
bottom of the tailgate and secure on the
inside using the large square Hold Down
Plate, Nut and Washer.

Hold Down Plate

Be sure to check and make sure the License
Plate Mount is not rubbing the vehicle body
or the bumper.

Periodically check to make sure the fasten-
ers are tight and the rubber edging is intact
and not damaging the paint.

BLP2100 - Rev 1 8/2/22 Page 4



Wiring your License Plate Lights

This instruction is simply a method for routing your wiring to install your License Plate Lights. All
wiring, lights and supplies needed is the responsibility of the customer or installer. To install license
plate lights, you will need to extend the wiring from the license plate light wiring harness. The con-
nector for this harness is located under the driver side rear tail light. You will need approximately
15ft of 22-24 gauge wire and a few splice connectors to complete the install.

We recommend starting your wiring at the
license plate light connector shown hear. You
can either cut this plug off and extend the _
wires, or cut the mating plug from the wire |

harness in your bumper and extending the .

wires from there. | =

Light connector

Run your wiring across the frame under the
tailgate and secure as needed. On the passen-
ger side, your wiring will pop up beside the tail
light and under the cover panels.

Open your tailgate and remove the plastic
cover panel using a panel tool or a flat head
screw driver. There are two screws and several
panel clips. Once removed the panel will slide
out easily.

Plastic Cover

BLP2100 - Rev 1 8/2/22 Page 5



Run your wiring up the inside of this panel and
out the top as shown here. We used some
masking tape to temporarily hold the wire in
place while reinstalled the plastic panel.

At the top underneath the rubber gasket there
is a small opening where you can fish the wire
down inside the interior panel.

If you prefer, you can remove your interior
paneling to run your wire, but we found this
method easier.

Small opening

Push wire down behind the interior panel until
you see it pop out near the tailgate wire har-
ness. We used some thin needle nose pliers to
reach in behind the panel and grab the wire.

BLP2100 - Rev 1 8/2/22 Page 6



Run the wiring behind the tailgate interior
panel along side the existing wire harness. Use
a few zip ties or some electrical tape to secure
your new wire to the existing wire harness and
reinstall the panel.

Run your new wiring thru the existing rub-
ber gromment in your tailgate and out to the
license plate lights.

Poke a small hole in the rubber gromment to

push your wire through. That way the hole
stretches and makes a seal on your wiring.

BLP2100 - Rev 1

8/2/22

Page 7



1 40 | 133HS 4 :37IS 133HS ERARENON
v 101zd1d

A3 OO _.Nn_l_m ‘ON 'Omad

INNOW

JdOOAd 3LV1d ISNIDIMT ODONOISG 120

‘NOILdIdOs3a

$41¥ XOdddV = IHOIAM '€

1VOD d3aMOd AOv1d = L0led1d ¢
NOILJO 1331S Fdv4d = 001 ¢d] ‘1

‘S31ON

003

S3ION 33§

HSINI

V/N

VLYW
¥ddV OIW

¥ddv ON3
aDIOIHO

. Te0e/e/8 - HOW NMVIa
o1 aol -,

IWVN

“Q3L8HO¥d
§1 071100740 NOISSIWIId

¥ SV 30 13vd NI NOILONQOd3¥
ANV "DT100140 AL¥3dOdd
3108 3HL S| ONIMVQ SIHL
NI G3NIVINOD NOILYWOANI 3HL

TVIINIQHNOD NV A¥VIINdO¥d

S00'0F WWID3A 3DV1d 33¥HL
S100%  TYWID3Q 3DV1d OML
« [FHOVW VINONY

010°0% ‘S3IONVIIIOL

SIHONI NI 33V SNOISNIWIT

*@3HID3dS ISIMITHLO SSTINN

L | 3Lv1d ONIZ.SZ8" X.91/SD dTHSYM LV dzviiemd] ol
Ol | 3LV1d ONIZSZ X .b/1@ d3HSYM LvTH dzzisemd] 6
S G¥9 Q3LV1d ONIZ 0Z-+/1 LN XaH S¥Od70ZSTNH| 8

L | S¥93Lv1d ONIZ00'L X 81-91/S 1108 XaH S¥Ddz9lslleaH| £
L | S¥93Lv1d ONIZ 089 X 0z-/1 1109 XaH S4Dd7r0L0zSZaH| 9
¥ 31v1d ONIZ 05°0 X 02-+/1 SOSHE d7800252S0SHe| S

N9 | oonows) Lw%ﬁﬂm&%mo@ ¥3gany eooldl v
L 31v1d NMOd GTOH €000lzdigr] €
L 1NN OV 31v1d 3SNIDIM OONOYE l0-00lzd1gy| ¢
L INNOW d13LVSTIVL OONO¥E 1202 lo-00lzd18z| |

“ALD NOILI¥OS3IA B3NN Lavd |

Page 8

8/2/22

BLP2100 - Rev 1



. ¢

>

2021 BRONCO

PESTROYER SERIES
LICENSE PLATE DOOR
MOUNT

SHIPPING SHEET
Packaged by:

On:

BRONCO TAILGATE LP MOUNT
2BLP2100-01

(x1)

BLP2100 - Rev 1

INSTRUCTION

SHEET BOLT KIT

HOLD DOWN PLATE
iy 2BLP2100-03

(x1)

LICENSE PLATE FLAG NUT
4BLP2100-01

(x1)

8/2/22 Page 9



() ) TS
2021 BRONCO IR R
"DESTROYER SERIES
LICENSE PLATE DOOR ) = \ 7 = g
MOUNT
BOLT KIT Za
Packaged by; HEX NUT 1/4-20
(1136302)
(X5)
On:
g
<
>
Se
(NN N 1z%
-
=h=R-N= g
>
BUTTON HEAD T
SCREW 1/4-20 X .50"
(94049)
(x4)
I

-------------

BULB SEAL

HEX BOLT 5/16-18 X 1.00" TR1003
(13055) (6 INCHES)

(x1)

OOOOONG
(©@©@© S

FLAT WASHER (1133006)
@1/4" X 75" (x1)
(1133004)
(x10)

BLP2100 - Rev 1 8/2/22 Page 10



